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acidic than carboxylic acids. ~(b)

730

(d) Phenols are less

» » > { { 4 )
(e) Terminal alkynes are acidic in'naturc. ' '

active than alkynes (owards
,(2.5><5=12.,5)'. Heclis

L]

¢s. are more re

(f) Alken
| addition ;eaciions.

¢lectrophilic
2.0 (@) As‘sigp‘illg'pxiqfiflies, dételrmi_ﬂ.c.t'-hc .Configu'ra‘ti'cjn' i
. (ElZor Mi)ior e foliowing compounds - . . ¥

........ | Ho ) I | OC'H] | | B‘- | /NH2 }' . .“O 9 CN _"1 ¢ ) ‘ .
H B 'ﬁ" OH -'-_, . / 'G.\ k! .‘/c_'_—-—:_c :. o see ot ,‘
(CHOH =ch - F o Hco - . CHN
(). L5 o o A e Ha| -
. - ) o .'.‘ : i ) !
. . e 2

3.

(b) Afn alkex?e on reductive ozonolysis' yields a mi
Fdez\:ii‘yxs:hn;ers with molecular 'f,g')rr'nula CDI{-;u(r)e
ey Wr?ttrlucture of the alkene am}i ih.
between alken :“t'hc e AT . .
with HBr. A
(8,4.5)

th

(a) Comt :
comp. the aromaticity df

pounds y df phe followin
g ]

(1) Naphthalene

(i) Cy¢
yulopcntadienyl catj |
10 ' ‘
- (1) Cyclohe ' :
ptatriene

‘ (IV) Pyr'idinc






CH

(W) H;;C-C-ﬁ Cf, =G , u
CHy®

i [}
L]
4

(b) Calculate the percentage of isomers formed on

._}monochlormatlon of n-butane. Relative rates of

ards chlorination at room
{Icmperaturc are 5. 0:3.8:1. | (8,4.5)

hydrogens 3°2 :1° tow
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ceachemistry of
Commcnl the stereo | R ' the products
(a) ans isomers of but-2-epe

N 7.
formed W he

rcacls with brommC 501““01‘ E?\plam the reaction

with mcchamsm

s of Wurtz reaction. How . COrey

(b) State hmnatxon
¢rcomes these hmnanonsﬂ Gwe

House symbesxs oV
' wuh suuable examples

| .

(©. Whmh is more a-c1dlc p mtrOphenol or o-

mtrophenol‘7 Gwe reasons. o (5 4 5 3)

]

8. (a) How will you chemically distinguish between 1-

butyne and 2-butyne?

’

© (b) Convert the following structures to standard
. S ) *

Fischer projections :

N
. ’ COOH Ph
H,co : ./ o - H
N
FLL e OCOCH,
» : l b Br
ipots : COOH
0 ‘ (i
, (C)‘}Explain why 1,3-pentadiene is more stable than’

| . 1.4-pentadiene?

-

p.T.O.
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(d) Wwhy mtranOﬂ Oﬁolucne is taster than nitration ot .
¢ bcnzene. | (’)_4,3',3_3)

9. " Write short notes On the following : (any four), .v°

: (a) EL and E2 reactions (i'nqluding mechani-sm).

(b)+D,L 'system of _cbpﬁgur‘:itio'li.,'(inc;ludiﬁ'g limitations) "

(d)' Oxymercuration - -Dé:mc'rcu'ratio'n Reaction

(mcludmg mcchamsm)

'(d) Allylxc Halogenatlon USlnL. NBS (mcludmg

+mechanism)

. (e),Nucleophilic addition reactions in alkynes :

e - (3.5,3,3,3) .

(ennNy
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(b) Write the formulae of the following complexes :

(i) Sodium bis(thiosulphato)argentate(l)
(11) Triamminechlorocyanonitrocobalt(III)

(iii) Potassium diaquatetrabromovanadate(I1I)

(c) Given below 18 the Latimer diagram for Fe in acidic

medium :
2.20 0.77 -0.47
FCO42- —_— ch+ _ LN FCZ+ e e Fe

(i) Why FeO,”> is strong oxidising agent?

(ii) Is there any tendency of Fe®" to reduce to

Fe. Give reasons.

(d) A strong oxidizing agent(A) on heating with KCI
and conc. H,SO, gives red coloured gas B which
on passing through potassium hydroxide solution
gives yellow solution C. C may also be obtained
on heating A on treatment with conc. H,SO, gives
a red product D which decomposes on heating to
give a product. Identify A, B, C, D.

(3333.5)
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~

e »

(a) Which of the following is more stable:
[('”0((‘11)1]'1' . [Co(dicn),x]“‘*

(b) Justify the presence of copper in the transition

series.
(c) Explain d_- p, bonding in complexces.
(d) Explain Jahn Teller effect.

Which of the following complex have all equal

bond length and why?

[CrF,]* and [MnFJ* (3,3,3,3.5)

(a) Identify A, B, C, D in the following recactions:

NHy | (a] — 2 (B

(i) [PtClg)*

cr —» [C] el —» (D]

(i) [PUNH;)"" —

(b) What happens when
(1) KI 1s added to KMnO, in acidic medium.
(i1) SO, 1s passed through acidified K,Cr,O,
solution.

P.1.4).
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eo
(a) What are differences between valence pond theory

and crystal field theory?
(b) Explain Spectrochemical series.

(c) Higher Oxidation states of transition elements are
stabilized by small anions like F-, O Explain.

(d) For Cr*” octahedral complexes in strong and weak
field, determine the (i) configuration in terms of
t,, €, (i1) number of unpaired electrons, and (ii1)

crystal field stabilization energy. (3>3»3’3'5)

(a) Write three differences between the characteristic

features of lanthanides and actinides.

(b) Ce*” ion is coloured whereas Ce3t ion 1s

colourless. Why?

(c) Work out the number of unpaired electrons in the

following 1ons :
Eu?t, Th i Ent

(Atomic number of Eu = 63, Tb =65, Lu=71)

(d) What is lanthanide contraction? What are the major
consequences of lanthanide contraction on the
chemistry of d block elements? (3.3,3,3.5)

E1 .0
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e €O 3
the

3 81ves one (-

ion. Draw the structyre

nd on the bagis o Werner’s coordj
ou

iOD on
of the

natiop
theory-

in the following vy suitable €Xamples -
plam
(b) EX

Jonisation isomerism
(1)

ij) Linkage isomerism
(11

lence bond theory, discuss hybridization
ing va ‘
(c) Uslngt ucture of the following :
and str

(i) [Cr(NH;)(]*"
(i) Ni(CO)y

1
N), 4 ion is diamagnetic but [Fe(CN)ﬁ] :n
o, tic in nature. Explain using V.B.T.
is paramagne Ay

i disappear
lain why does colour of KMnO'4 pelis
Kot lic acid is added to its solution 1n ¢
when oxalic

medium.

A R i
in acidic mediun
d oxidising agent in acid
: 2
(b) K,Cr,0, is a good ¢
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PR
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(iii) Derive the Michaalis .- Mentel eq
enzyme catalysed reactions- The mechanism

involves the following steps -

Show that the enzyme catalysed reaction is first-

order and zero-order with respect to S at low

and high concentrations of S, respectively.
(4.5)

(i) Explain the role of catalyst with the help of
(4)

potential energy diagram?

(i) Hydroxide ion is involved in the mechanism but

not consumed in this reaction in aqueous solution.
OH™
ocl-(aq) + 1~ (ag) — 01 (aq) + Cl™(aq)

(a) From the data in the table, determine the
order of reaction with respect to OCI,

I-, and OH", and the overall order.

1.0






LY

I

Da' , » u&.. ¥
<nve tqhe re; on hetween \n’hen“h activation
ner
he 'mmrllim energy E of the

{:"\z‘.-\. s 2
ollision Ihegx—}, of bimolecular reaction theory.
(4)

Zﬂ (3 7 ..
() (a) What are the two conditions that are
necessary for effective collisions?

2

{ Thvy ]
(2) Why the valye of steric factor p is usually
less than 19 (2+2)

(i) Show that for 5 first order reaction, the time
required for 99,99 completion of the reaction 1s

10 times the time for 50.0% completion.

—~
BEN
wn

~—

(i) Write a short note on any three:

(a) Effect of temperature on Photochemical

Reactions
(b) Activated Complex Theory

(c) Conductometric titration of mixture of HCI

and CH3COOH against NaOH

{d) K ohlrausch Law of Independent Migration
of Ions (373)

P.T.0.
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. transport
iy Why does the P P Dumber of cder jons i
¢ d solutions gf ;
concentratc Cd12 1§ negative?
| (3.5)
sve La
() State and derive EAMbertBeers 1oy,
- ickn
(11) 2.0 X 10 > m th . eS.S of a certain glass
(ransmits 10% of the incident light of wavelength
300 nm. What percentage? of light of the same
wavelength will be absorbed by a 1.0 x 103 m
‘hickness of the glass? (4)
(iii) The proposed mCCh?niSm of photochemical
reaction between H, and Br, is
hv l
BTz — 2 Br
K
Br + H; = HBr + H
K
H + Bry, = HBr + Br
. ,
H + HBr 5 H, + Br
ks
Br+ Br - Bn,
Derive the quantum yield of reaction. (4.5)
7. (1) Explain, giving reasons : (any two)

(a) Specific conductance decreases while

equivalent conductance increase on dilution.
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(b) Molar cgopgyetance values for alkali metal

cations are in the order Rb*>K*">Na">Li".

(c) ADC

conductance easurements. (2+2)

Currept cannot be used for

(i) What are the various factors affecting the
conductance of 5 golution? How do you account
for the increase ip conductance of solutions at
high field Strength and at high frequency?

(4)

(i) A conductance cell when filled with 0.05 M
solution of KCJ jecords the resistance of 410.0
ohm at 25°C. When filled with CaCl, solution
(I1g CaCl, in 500 mL) it records 990 ohm.
If the specific conductance of 0.05 M KClI
solution is 0.00189 mho/cm, calculate (a) Cell

. constant, (b) specific conductance and (c) Molar

" conductance of CaClz;._ (4.5)
8. (1) Discuss (any two) applications of conductance
measurements :

(a) Solubility and solubility product of a
sparingly soluble salt.

(b) Determination of Ionic product of water.

P.T.O.



(ii)

(111)

ion befor® elcctrOIYS.is and 18.46¢
ode solution COMANed 0.14¢ ¢ cr | e
is. A Sll\.’er Coulometer Conn:n aftf?,r
4 a deposit of 0.2503 gh Cacited in
ansport number of Cl- anq H* .ions L

(4.5)

catl

the tr

Describe Hittorf’s method or Moving bounda
_ T
method employed 11 determining the transpor};

pumber of an ion.
(4)

Which of the following pairs will have higher

molar conductance and why?

(a) LiCl or NaCl
(b) CI- ion in HCI or in NaCl (2+2)

The resistance of a 0.02 mol/dm? solution of
acetic acid in a cell having cell constant
0.2063 cm™! was found to be 888ohm. What is
the degree of jonization of the acid at this
concentration? (Given A?, for acetic acid = 387.9
x 104 Smol-'m?). (4.5)

(1500)

)

T
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Attempt any six questions out of nine.

3. All questions carry equal marks (12.5).

(i) What are Metalloenzymes and Metal Activated

Pt
»

Enzvmes? Give the name and the mechanism of
action of the enzyme transporting CO, from the

tissues to the lungs.

P00,
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(i1)

(111)

(11)

3

1) A mixtur : .
( % O~ anigne Bives brown vapours with

concen i fi
trated H2804, which are intensified on

adding Copper tumings_ A'rod dipped in ammonia
solution gjvyeg White gepse fumes when brought
near the mouyty of the test tube. The sodium
carbonate eXtract giyes a white precipitate with
silver nitrate after acidification, which is
completely soluble j; ammonium hydroxide

solution. Explaip with reactions how will you
confirm the anjong present.

How are organometallic compounds classified on

the basis of type of bonding? Explain giving
examples. '

State what special features of Zn(II) make it an

excellent biocatalyst? (3,3:2.3)

State how does cis-platin block cell proliferation?

Explain.

What is Bohr Effect? Draw the oxygen
saturation curves for haemoglobin and myoglobin.

Why do their shapes differ?

1.0
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1107
(©) gaemoglobip
(d) Chlorophyl]
(¢) Transterrin
) . Zieglar N
i) What is I Natta Catalyst? Explain the

. of thj
active form OI this Catalyst which 1s involved in

the O]igomerlzation Ofoleﬁn

(iii) Write the formulae and dray the structures of
two Organometalhc COmpounds havine multicentre

: 7 :
bonding. W hat 1s the reasop of their multicentre

bonding? (5,5,2.5)

(i) An unknown salt A, when heated with NaOH
solution, produced a pungent smelling gas B. B
turned red litmus blue and gave dense white
fumes of C when a glass rod dipped in HCI was
held at the mouth of the test tube. A, on heating
with concentrated sulphuric acid, gave a mixture
of two odourless gases D and E. D burnt with
a blue flame while E turned lime water milky.
An aquegys solution of A gave 2 white

precipitate ity calcium chloride solution the acid



(107

(ii)

(iii)

9 (1)

(i1)

5

cxtract of i
Which digcharged the colour of

acidified p
Olaga; o
p lassiyp, permanganate solution.

Identify A, B

~ Doy b tions
' n ng the reac
involved, d E giving

Wﬂhal do you meyy, by reductive carbonylation?
Give a suitab]e CXample for this. The symmetric
CO stretching fquUencies in isoelectronic series
of [V(CO)(,]U Cr(CQ)6 and [Mn(CO),]" are 1860

-1
cm -, 2000 cm-! and 2090 Cm—l respCCtiVEly.

Explain these observations

In what form iron js stored in the human body?
How is it taken from the storage site for the

incorporation into haemoglobin? (5,5,2.5)

Both carbon and oxygen have one lone pair of
electron but in metal carbonyls, bonding is
through carbon and not through oxygen. Explain

with help of Molecular orbital diagram.

Write the toxic effects of Pb(II). Give the

reasons for its toxicity. How it can be

treated?

P.T.O.
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;n) A and B are two isomers of CJH O based upon
pc‘nks'ohmined in spectral data recorded in 'l
NMR spcclmplmlomuu [dentify A and B, give

(hur IUI AC namc,s and explain ;
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veseg
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3

S St S

I
(iii) A '(iV.)" | j

(ch lltll“L neies g
stre

(n) 1745 o1 |

(by 1780°¢

§15 ¢em

(¢) I¢

(). 1715 cm

(4.4.d.5) -

5. (a) Give the synthesis of Bakeliqo and its ygog

(b) Outline the sYNhCsis of Nylon-6,6 apng its Usos,

(¢) Write the nu,c,lmmsm involved whep vmyl chlomlc '
in polymunscd in presence of buvnyl peroxide?.
(4,4,4.5) -

0. (a) (i) Dctline chemical shift and coupling consfant.
(it) How will you diffcrentiate in between eis and

trans cimnamic acid 'MH NMR schlrosc‘opy.‘

(b) Give cxpected number of sng,nals by 'U NMR

spectra recorded in CDCI; in cach of the (ollowm;_,
compounds '
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2. Attempt any six questions. All parts of a question
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3. Each question carries 12.5 marks.

(a) Fill in the blanks with appropriate word(s) :

(i) Rearrangement reactions are %

atom economical.

(i1) is an example of a green solvent.
/

P.T.O.
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.y SonicalION uses

. 1S 3
(iv) — NOn-renewable feedstock.

(v) PEG stands fg

_ .
(vi) ISD in £Feen Chemistry stands for
(b) Define the following terp :
(i) Real time analysig
(ii) Depleting feedstock
(c) Complete the formula Risk = £ (hazard, ............ )
(6,2%3,0.5)

2. (a) Discuss any two Environmental laws.

(b) Name and elaborate the pollution prevention Act

of 1990.

(c) Write down 12 Principles of Green Chemistry.

Explain the principle of catalysis and Inherent
Safer Chemicals. (3,3,6.5)

3. (a) Define atom economy.
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1521 it;
o Super—cl‘ltlcal carbon dioxide? What are
(b) whq‘d\/:mmgcs OVET conventional organic solvents?
thVbh‘y (here 15 '3 n:ed o replace PERC as a solvent
for dry cleanlﬂg' (6.5,6)

e will you PT€Pare green plastic starting from
. com? which green ChemiStry principle is involved

in it?

(b) Explain how cradle to cradle recycling concept is

applied to carpets?

(c) What is photocatalysis? How photocatalytic

reactions are different from photochemical

reaction? (4.5,4,4)
6. (a) Green Chemistry and sustainable development are
inter-related. Explain.
(b) Explain the green synthesis of :
(i) Adipic acid and
(i1) catechol

(iii) Disodium iminodiacetate (3.5,9)
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T

8.

9.

S

(a) Elaborate sonochemijcy) s'mmons-Smith reaction
1

What are its ad‘/antages over conventional

method? Discuss how transfer of energy occurs

in ultrasound assisted regctions?
(b) Discuss the advantages of Combinatorial approach

over conventional synthesis. (7.5,5)

(a) Name the Environmentally Advanced Wood
Preservative discovered, which also won the

Presidential Green Chemistry Challenge Award in
2002.

(b) Discuss the working of fluorous biphasic solvent.

(c) Why the selection of starting materials should be

renewable rather than depleting? (4,4.5,4)

(a) Write short notes on:

(i) Combinatorial Chemistry

(ii) Co-Crystal controlled solid state synthesis

(iii) Flixiborough Accident

P.T.0.









2.

764 Ty

Section A: Physical Chemistry

(A"e‘ﬁpt any three qucsti'ohs_ in this sccuion)

d buffer

I
(a) What do - you understand by buffef an
1d1c and bast

.* Capacity? G1vc onc cxample of ac

buffcr" ;

o/

(b) Explam thc term eerpy and give its’ physnml
.slgmﬁcancc Calculatc the molar enropy (857%)
of H;0(]) at 298 K if 8°,,'of H,0()). H,(g) and
0,(g) are 69.91 ] mol™' K, 130.684 J mol~' K-"

and '205.138 J mol- K-,

(c) State the Le- Lhatehcr s principal. Predict the

effect of increase of temperature and pressure on

the following reaction : :

Hy(g) + Ny(g) === 2NH, s iy _ 74 \] mol"
i ; e ol

What will happen if some more molecules of N,(g)

introduced in the reaction? . (4,4.4.5)

(a) Tl.u: solubility of CaF, in water at 20°C {5 15.6 mg
per dm® of solution. Calculate the solubility product :

of CaF, (molar mass of CaF, = 78 g mol"!). -
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(h) Define pH. What js the pH at 25°C for a solutlon :
w lnch 1S twice as alkaline (i.e. \Vthh contains

+ twice as many hydromde ions) as pure water?

(c) Dc.tme Heat of Vaporization, Heat of. Fusion, Heat

© of Subllmatlon leferentlate among them by
' conaldu‘mg a sun’able example Explam Hess S law

dmgrammatu‘:a]ly by conSlde“ng these three
“enthalpy. of water. "o (4 4;4:5)-

~(0) Explain first law of thermodynamics and give the

mathematical form of first law of thermodynamics. -

.(b) Calculate the enthalpy change for the reaction:

C,Hy(g) + Hy(g) - C,H(g)
Data : Ai{°(cuc) = 610 kJ mol; AHO(H‘H)?436k] mol-!;
'AI-IO((,_,{) = 413 kJ mol=' AH®(. o) = 348 k]\mol“.

(c) Hydrolysis, of acetate ion is represented as

|
. CH,COO0™ + H,0

CH,COOH+OH"

Calculate the hydrolysis constant (K,) and its
degrec of hydrolysis (&) in 0.1°M solution of

" sodium acetate. Given K,(CH,COOH) = 1.8x10"%
‘Mand K = 1x10-14 M. (4,4,4.5)

Rt L,
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4

4, :
2 Wr“ a2 short note on ~bond energy and bond

d SS
OC‘aUOn energy”.

(b) De fine imcoral and Dxfferenttal enthhlpleb Gf
“Solutjgy and write thcxr cxpressxon :

( )De“"e the: cxprcssmn for Kp, Kx and KC by

¢o I).Siderlng a general reaction and also fmd s

- out relat1onsh1p beﬂveen Kp, Kx and Kec.
i - - | m44:y

. Section ' B: Organic Chemistry

(Attempt any three questions in this scction)

(a) Complete the follo #E reaction and draw 't.hc

structures of &, B and C. i

Ale Bh FCBI'3 .
—_— A — B+ C

-+ CH;-CH;-CH,-Cl

(b) How will you convert?

=3
(1) Toluene to nitrobenzene

', (1) Benzene to diphenylmethane
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hy aromatic hydfOC“bOn undergoes

764

(c) Explain : |
lectrdphlllc subsmuuon reaction an carbony

" compound undergoes nucleophilic addition reaction.
Gn'e ne example of e]ectrophlllc subsntutlon and i

'nucleophxhc addmcm reacuon (4,44 5) -

(a) What is t-he cntenon of aromat1c1ty accordmg to.. .-

Huckels rule’7 e '. "\_

‘(b)Nitrophcnols are more acidic than ,p‘hcnol.:
confmcpt. Why the meta isomer has significantly

Jow acidity?

(c) Explain why aryl halides undergo low ‘reactivity -
towards ;‘JUC]COPhiHC substitution reaction (SN1 &
SN2) than alkyl halides. (4,4,4.5)

(a) 'Write-down the reactions involved in the industrial

preparation of Phenol.

(b) Describe the benzvne mechanism for nucleophilic

substitution of aryl halide by taking an example.

(c) What type of chemical reactions carbonyl

compounds undergo? (4,4,4.5)
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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt three questions from Section A and three
from Section B.

ECTION A

(Attempt any three questions)

1. (a) Compound A when heated with a soluble chloride

and concentrated H,SO, gives orange red vapours
of compound B. When an alkali is added to A it
gives yellow coloured compound C which on

P.1.0.



gcidifying converts back to A Ic‘lémify Compounds :;
A, B and C and wrje the chemical reactions
involved.

(b) Draw and explain the Structure of Ferrocene.

(c) What do. you. mean by cooperativity in
haemoglobin? Discuss the roje of haemoglobin and
myoglobin in biological system. (4,4,4.5)

2. (a) Discuss I8-clectron rule for metal carbonyls.
Predict which of the following molecule does not
obey 18-electron rule

(i) [Fe(CO),]
(i) [Cr(CO),]*-

(iii) [Mn(CO),Cl,]*
(IV) [(’15—(35H5)2Fe]

(b) With reference to molecular orbital diagram explain
that CO acts as both Lewis acid and Lewis base.

(c) With the help of diagram explain the mechanism
of sodium-potassium pump. Why it is considered

as an actjve transport. What Iis the source of
energy for jts functioning? (4,4,4.5)




1590 3

3. (a) Give Reasons for the followings :

(i) Nicke tetracarbonyl is a stable carbonyl

but Ma
Nganese does not form stable
mononuclear carbonyl.

(ii) IR stretching frequency of CO bond is

different in terminal and bridging carbonyls.

: th + - : ]
(b) Discuss the role of Na* and I\./Ig*2 ions 1n biologlca1
system.

(c) Give method of preparation of potassium

ferrocyanide. What is the oxidation state of iron
in it? How is it used for the identification of Zn™?
ions present in an organic salt? Give chemical

reactions. (4,4,4.5)

4. (a) What happens when (give balanced chemical

equations)

(i) KMnO, reacts with a ferrous salt in acidic

medium.

(1) A solution of potassium dichromate

containing dilute H,S0, and ether is treated

\Vilh Hzoz'

PoEcC






(1) Ethy acetoacetate KEtONie hydrolysis

> Acetone

(1) Ethy| acctoacetate ficidic hydrolysis = Acetic Acid

(d) Discuss the theory of electronic spectroscopy with

a neat diagram showing electronic transitions in
1,3-butadiene.

(e) Explain: chromophores. (2,2,4,2.5,2)

6. (a) Giving reasons, predict the C=0 frequency shift
in the given aldehydes, C=0 stretching frequencies
are 1665 cm™', 1700 em™' and 1730 cm™!.

i

P.T.O.
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(b) Calculate the absorption maximum' (Aan? for

n® transition in the following compounds using
woodward-ﬁcser rules.

- o ;s

Parental/Base values Awax (8) Increments (nm)
Acyclic/ I leteroannular dienes 214 Alkyl substitution/ Ring
Homoannular diencs 253 residue +5
a, B unsaturated Acyclic ketones 215 Additional conjugation +30
a, B unsaturated Aldehydes 210 Exocyclic double bond +5
a-alkyl substituent +10
B-alkyl substituent +12

(c) Write notes on: Bathochromic shift

(d) How will you distinguish the following pair of
compounds using IR spectra?

(i) CH,CH,COOCH, and CH,COCH,

(i) CH,CH,CH,COOH and CH,CH,CH,CHO
(4,3,1.5.4)

(a) Write the name reaction Claisen ester condensation
for the synthesis of ethyl acetoacetate. Explain
with mechanism.,
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b) Explain | ’
o I:h 1 s Keto-cnol tautomerism by taking active
methyle
1€ compound as an example.

How w;j
(c) will You prepare the following from ethyl
aCCthCetate :

(Attempt any six)
() Gluteric acid

(i) Crotonjc acid

(i) Cinnamjc acid

(iv) 4-methyluraci]

(v) Pentane 2,4-dione

(vi) Methylisoxazolone

(vii) Cyclohexyl methyl ketone

(viii) Ethyl methyl ketone (4,2.5,6)

8. (a) How will you carry out the following conversions?
(i) Anthracene to 9-bromoanthracene
(i) Naphthalene to Decalin
(iii) Furan to 2-nitrofuran
(iv) Pyridine to 3-pyridinesulphonic acid
(v) Pyrrole to 2-formylpyrrole

pP.T.QO.
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(b) How do you synth

Symhcsis?

esize anthracene ysing Haworth
(c) pyridine is more basic than pyrrole Explain

(d) Draw the resonating structure of naphthalene.
(5,3,3,1.5)

(1000)



